= A

This question paper contains 2 printed pages. Roll No. .5.7.5.75¢
O 0. vmndotin i 2 o hesieevivisers
201

B.B.A. (Part-1I) Examination — 2024 5
(10+2+3 Pattern) D |
(Faculty of Commerce) -

BACHELOR OF BUSINESS ADMINISTRATION ~

o

| Paper-1
[Strategic Management]

Maximum Marks: 100

Time Allowed: Three Hours

w3 He aifeypa 3 1 100
-
Attempt any five questions in all, selecting at least one question from cach unit.
amore /

mm##mwaﬂrwmwmaﬁﬂgg gror aler gl @ 9TV

No supplementary answer-book will be given to any candidate. Hence the candidates should write the

answer precisely in the main answer-book only.

Areft off el ) qea FaR—yRawr 7E & ol S ety 7 e [ @ ge gere-graar
4 & v geAl @ S fordd |

All the parts of one question should be ar
should not be answered at different places in the answer-book.
Wﬁwmﬁﬁgﬁﬁﬁﬁwwﬁv}m W—W#‘m—mnﬁwmm
& goIT U & T gv & #Y

Write your roll number on question

W%W@W#ﬁm—wwmmmﬁf@w

wswered at one place in the answer-book. One complete question

-paper before start writing answers of questions.

UNIT-1/5@E-1

Q..I Describe the Strategic Management Process in detail. 120]

SRS Ha B ST @Y AR § TR |
OR /3gar
What is Vision? State its importance and also discuss the process of Envisioning.  [10+10=20]
ﬁqmwﬁm%?svﬁqmmﬁgq'mﬁmaﬁmaﬁaﬁzﬁaﬁﬁm
UNIT-11 / go-11

Q.2 Elucidate the major techniques of Environment Scanning. [20]

mﬁﬁaﬁﬁaﬁmmﬁaﬁwml
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Q.4

Q.5

201

overcome those barriers.

T s

s OR / rerar
rite a detail note on Appraisal of ERe | finvironment [20]
AR D AT W 0 Ry <he Rk |
UNIT-111 / garg-111
Discus . . s, What
iscuss the components that are used jn the strategy formulation process. Wh [10.,.10.—-20]

1ssues are faced during the process?
FEAHS U & 9 ged o f ghpar ¥ 9997
Wum%ﬁ?mmaﬁmﬁmﬁm‘“aﬁml
OR /aerdl
Write a detailed note on Business Level Strategy. gy
AERAD TR ggvar wR @ g oqa R |
UNIT-1V /g&E-1V

Define the term Strategy Implementation. Discuss the aspect and model of Strategy

5 ama & @At aifore |

[5+15=20]

Implementation,
Sgal [FaTaa o Wi gu, g R 16 T died A wuf A
OR / 31eqar

Name the different aspects of Behavioural Implementation. Describe the Corporate

Culture in detail. ) " [5+15=20]

e Brara @ Rf TEgel @ T 3 g0 FiiRe w3 R

< 9T | :
| UNIT-V / §51§-V

What is Strategic E\-zaluation? Discuss the techniques used for Strategic Evaluation

and Control. [10+10=20]

WWWW??WWWW$WWﬁ

S arelt AT aael @t == BT

OR /3¥dl

State the barriers to strategic evaluation and control and suggest some guidance to

[10+10=20]

HERTATHD e eﬂ?ﬁﬂ'ﬂwﬁmﬁmmaﬁﬂﬂfm@ qrEnaf B
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(Faculty of COmmeme) ~

BACHELOR OF BUSINESS ApMmstaTION z
aper-11

(Marketing Management)

Time Allowed: Three Hours Maximum Marks: 100
w9y : 3 "e Ry Fib : 100

Attempt any five questions in all, selecting one question from each 'Um't.
qeiE FH1E 4 W §F v Fed §v g gig ged &7 B &/
No supplementary answer-book will be given to any candidate. Hence the candidates should write their
answers precisely in the main answer-book only.
1l ft GOeTeff @) qve Gerv—gfamr 78 & o s adenRial @ aRy [F @ gea gav-giasr
& & wawT gent @ g fordt
All the parts of one question should be answered at one place in the answer-book. One complete question

should not be answered at different places in the answer-book.

2 o v T & sria gi ay BT gEt & wgnw W—W#W—WWWWW
F Fo7T U & I gV T He/

Write your roll number on question paper before start writing answer of questions.

yeT¥ @ gev forEs @ qd geT-ga uv el TEY sigey frd /

UNIT-1 /@181

Distinguish between old and new concept of marketing. What is the need to adopt

the new concept of marketing? [10+10=20)

WﬁWaWWWﬁMW!WWWﬂ
SO At aTad 87
OR /31141
Define ‘Product Life Cycle’. Explain the factors influencing the product life cycle.  [8+12=20]
Saare Saw T @ aRAfa AR | SWE e @ B i 3 a

HTh! B W BT |
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UNIT-II / gpré-1I

' Distinguish between ‘Marketing Rescarch’ gnd *Market Research’. Discuss the

limitations of marketing research, [10+10=20]

R e T AR M W SR qarge | Rger R @ Ayl @1 fda
g

OR /3eqar

ile sclecting @

suitable distribution
[20]

Discuss the factors that are considercd wh

channel,
g BT |

faavor @ QUYTH HRAH qU N e W ?ﬂfﬁ ol
| UNIT-111 /g&rg- 111
A [20]

3. Clearly explain the various factors affecting pricing of a product.

ﬁﬂﬂw$§wﬁuhwaﬁmnﬁamﬁmﬁﬁmﬂueaﬁ
i Y |

A wWe FI A

OR/ arerdl
ate the factors which influence sales forecasts.

J g =cdi

Define ‘Sales Forecasting’. St [8+12=20]
s Q@i Y aRonfa AR | Ry qEigAmET B AT P
PT S PIIY |
UNIT-1V / Z518-1V
| What do you mean by sales promotion? How does it differ from advertising?
Rer <kt & o a1 e &7 € Rsme 3 fa ger @ 87
OR / 3ar

[6+14=20]

[20]

Narrate qualities of a successful salesman.
v |l Rmamal @ wg@ o &1 9ol I |
UNIT-V /5915-V

Describe the main techniques that are used for exercising control over marketing [20].

tn
v

operations.

frqur farll TR Primor B 3 S oY ave W b @ auie S |
OR / 3perar

Explain fully the process and purpose of control over marketing operations.

fauur fobansii W =T 6 uftha vd s @y wfiaR GHIET |

[10+10=20]
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BACHELOR OF BUSINESS ADMINISTRATION
Paper 111
(Human Resource Managemem)

Time Allowed: Three Hours Maximum Marks: 100
wHY @ 3 " aifirmas 3 : 100

Artempt any five questions in all, selecting one question from each Unit. All question carry equal marks.
FB §PIE A W v gv wvd 5V T U 5 ET B &) wpft gt @ o w7 8 '
No supplementary answer-book will be given to any candidate, Hence the candidates should write their
answers precisely in the main answer-book only.

et ft gl @ qve gov—ygRaer T8 @ aivh | S mﬂ%&?ﬂﬁ?{fﬁég@ﬁ’ﬁ?—ﬁw_
? & wHeT g @ Jov ford [

All the parts of one question should be answered at one place in the answer-book. One complete question
should not be answered at different places in the answer-book.

el f v 7T @ Sia g8 Y [ FE] BT G, Sav-gRasT 4 SerT—3IerT Il 9 Eel BT
P FOrT T § ®IT GV 5 P/

Write your roll number on question paper before start writing answers of questions.

o) & Grv forg= & qd FT-9F ¥ ¥l 7Y AT fored |

Unit-1 /@151
1. What do you mean by Human Resource Management? Discuss the functions of

Human Resource Management.
meﬁmwmﬁ?mﬁawmzﬁmmw

BT |
OR/ M
Explain the role of HR Deﬁmtment in the organisational set up.
SIS [IET § A A AR B YRS S a9 |
Unit-I1 / §51E-11

2. Describe the need and objects of Human Resource Planning.

AT A AT B ravddar U4 Seed wwsEd |
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OR / gpepat

Explain the difference between FCCtUit et and sclection and explain their

importance.
adl T T W SR X DS ey gy 96 aTIGA |

Unit-T /ggrd-111

clopment’. What arc the basic

Explain the term ‘Career Planning and pev

characteristics of Career Planning and l)cVe]()plﬂc"t? .
ofqeghy FriorT aerm @y e B i AR | gfa Praem wd s

& Hep[d aed BB 4
OR / 3perar
Write an Essay on the importance and limitations of training.
gf¥eror & HWe<d Ud drel R ue [Mae fafad |
Unit-1V /ga-1V
Discuss the various methods of Performance Appraisal-

fregres geaiea 9 fAfT AR a1 seora IR |
OR / 3rerdar

What is Merit Rating? Explain its importance.
T A @ ¥ gD Hewd Bl A |
Unit-V /3615—V

Define Motivation. Describe its various theories.
\ .

o B aRfie AR | sue R fReRurel @1 avk AR |
OR / 31ar

What do you mean by ‘Morale’? Describe the various methods of measuring it.

TGS ¥ A T IR ¥ g W oy R Rl a1 vl R

----------------------------------

203



: ontains 3 printed pages: Roll No...2.75759
1 estion paper contams CIRTRE: (ST Ao A - A SOOI
This qu P 204

B.B.A. (Part-II) EXamination — 2024
(104243 Pattem)
(Faculty of Commerce)
BACHELOR OF BUSINESS ADMINISTRATION
Paper =1V
(Business Finance)

Maximum Marks: 100
Time ;&Ilgwcd: Three Hours st 30D

Attempt any five questions in all, selecting one question from each Unit.
yeF sIE § W U HeT BT 99T ¥a §Y G Gid & By B
No supplementary answer-book will be given to any candidate. Hence the candidates should write the

answer precisely in the main answer-book only.
Wvﬁqﬁenﬁaﬁwaﬁ?—gﬁﬁwvﬁﬁawﬁ/aﬂWWWW%?WW—W
¥ & gavd geaf @ gav ford/

All the parts of one question should be answered at one place in the answer-book. One complete question
should not be answered at different places in the answer-book.

e o v geT F sra qi T AT FEEl @ gy oav—gledsT & Sicri—3ieiT Il v §of &Y
P FETT §F & WIT Y §] HY/

Write your roll number on question-paper before start writing answers of questions.

goY B 9w forgs @ gd weT—-uF gv Wd T 5avy [ord /

Unit-1 /3151
Q.1  What are the primary functions of the stock market in the context of corporate finance?
| wriRe fig @ wof § YR AR @ sefis SR @ §
OR /31141
Q.2  Explain the meaning of Financial Forecasting and describe the techniques employed in

forecasting financial needs of a firm.

¥ e el &1 guie B
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Q.3 Define Financial Management and discygg {14 main functions.
v wavrer @Y wfdnfva @y sl gua 1w TTRIE aul ®

()R/alﬂ?iﬂ
Q.4 “Sound Financial Management is a key (o (e progress of corporations.” Explain.
e fadii yaue o afy unfo o) gof & arel T |
Unit-1 / gerg—111

[ixplain the meaning of Under-Capitalisation, Discuss the causes and remedies of under-
capitalisation,
et foflanvur w1 ard e W) ey lluﬂ‘}‘{ﬂ'l & wRoil ahk SurEl w gal )

OR /32l

Q.6 ABC Lul. Is considering investing in a project that costs T 5,00,000. The estimated salvage
value is zero; tax rate is 35 percent. The company Uses straight line depreciation for tax
purposes and the proposed project has cash flows before tax (CFBT) as follows -

vkt Rifrds v aRasrr R @rr 5,00,000% 8, 3 fafEe 1 R far R
6 i ;argnrﬁhrafaf?rw:w?fwalmaﬁmwwﬁfmalmﬁ’lmfﬁm

A e wrn vy sl @ o sanfad RIS ¥ PR qd V&S yaw (CFBT) 59

PR & —
Year 1 2 3 4 5
CFBTR) 1,00,000 1,00,000 1,50,000 1,50,000 2,50,000

Determine the following (i) Payback period, and (ii) Average rate of return.
Rgfvor ARE — () areraf sy fafy; e (i) e 9o <1
Unit-1V / 3E—-1V
Q.7 What is the concept of ‘Working Capital’? What factors determine the needs of working

capital and how is it measured?

e golv ﬁmmwm%?aﬁﬁmwm@ﬁﬁmﬁﬁﬂfﬁﬂ
wRY & R g DY Ay e } :
OR /3o

Q.8 Write a short note on the Investment of idle cash in readily marketable securities.

SRR A R e SRR ¥ Riftey Gpa @ FRE W 1@ HRra e |
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Unit-V /9y

J Analysis of Financial SYemens's Bynlain i .
Q.9 What do you mean by Analysis of lents*? Explain its objectives,

i fagor @ fgawer @ sawn a0 ISR i - AR
' OR /3%y

Q.10 The following figures arc available with respectto a particular company -

@mﬁﬁwﬁmﬁﬂﬁif@ﬂww“mﬁh
L il Ay ey

_ Sales Profit/l.oss
¥2,52,000 Z 16,000 (Loss)

2005 B
2006 ¥3,57,000 19,000 J

) PIV Ratio; (iﬁrcak-even Point; (iii) Profit or loss when sales are

Calculate: (i
Z 2.70,000; and (iv) The amount of sales required to earn a profit of T 25,000.

aore XA (i) ST AT, (i) Ta-faede fawg; (i) 2,70,000% @1 fam @ @
ar &1, (iv) 25,000 BT WM FAM ¥q fama @ RN
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No sy 1 b
Pplementary answer book i ]
will be given ¢ ) [ ‘ ' '
answer prectsely i the wnts e e onlyo any candidate. Hence the candidates should write their

gl &) v g : .
5 wﬁww/ﬁwaﬁaﬂw;mmww@ag@m—m

All the parts of one question shouy

fields of business decision making.

ot P o & R aa  WB o et @ s g DT 020

TH e ford |
OR / 3qar
(I) What is the probability of drawing a spade or a king from a pack of cards? 5] o
gw$wmﬁ§§qmwm§§qmwﬁmﬁﬁmﬁmw
(I) Twenty balls are serially numbered and placed in a bag. Find the chance that (8]

the first ball drawn is a multiple of 3 or 5. \
I8 T3 B TR i R T s o A A < T W
ST DT 5 FFTh ¢ qme ¥z 3 71 5 1 KA B |

(IIN)A number is chosen at random from numbers ranging from 1 to 50. What is 7]
the probability that the number chosen is either a multiple of 2 or 10?
1 ﬁsoamﬁﬁwaﬁﬁ%ﬂ@mmﬁwm?ﬂm%'m
wmﬁwﬁ,%ﬁﬁmzmmwwﬁ 5
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Unit-11 /g1
Explain the applications and limitations of lincar pT(')gmmming.
W N B oA of el @ @Rl B
OR /3@l
A newspaper boy has the following probabilities Of selling a magazine -

U AWAR AT AL A B WK b U1 T 9 iR T ¥ —

No. of Copies Sold Probabiljqy |
| 10 10
11 A5
12 20
13 25
|- 14 30
The cost of copies is T 3 and the s

ale price is T 5. He cannot return unsold copies.
How many copies should he order as per The Expected Monetary Value Criterion?

uﬁuﬁaﬁma?%aﬁ?ﬁaﬁamsi%lagﬁmﬁaﬁuﬁmmﬂﬁaﬂ
mﬂaﬁﬁﬁ’ﬁﬁ?ﬁ‘{mﬁmd@%mﬁﬂm@ﬁmﬁm%mﬂﬂ%@

Unit-I11 / s1E—111

What do you understand by a balanced and an unbalanced transportation problem?

How an unbalanced problem is tackled?
mwmmw'ﬁmmmﬁ?mmﬁ
B9 et Smar 87

OR /31eqar

The following information is given regarding a project, find the critical path and
different floats -

U GRAST & w6y A Frafaiaa e @ T8 8 sewget gy sl iR
Felle qaIge — ‘

Activity Duration
1-2 2
1-3
1-4
2-7
2-5
3-5
3-6
4-8
7-9
5-9
6-9
8-9

w|blwlwjo|a|hlw]| =]

[10+10=20]

[20]

[10+10=20]

[20]



Unii-IV/g—cmﬁ—IV .

What do you mean by Quing Theory? Explain its objects and limitations. [5+8+7=20]

W%ﬁﬂmmwﬁ%‘?mm@ﬁxﬁmﬁd)ﬁm
OR / agerar

Use the Dominance Principle to solve the game, whose pay-off matrix is given

(20]

Y4 | Y5

S
=1 =¥ I
EN

o0
0o\

10 9
Unit-V /seE-V

What is simulation? What are the advantages and disadvantages of the simulation
model?

ﬁﬂﬁmw%?ﬁlgévmﬁ@aaﬁmm%amaﬂmwﬁ?
OR / 3req@r

A machine shop has a press which is to be replaced as it wears out. A new press is [20]

[5+8+7=20]

to be installed now. Further an optimal replacement plan is to be found for next
7 years after the press is no longer required. The following data are given -

wnﬁaaﬁwﬁwﬁv%,magiﬁmmdamimgﬁsﬁm
§|MQ$WWWWW%IWWW7@$%NW
Wuﬁmﬁmmaﬁ%ﬁﬂﬁmmma‘amévm
frfafRad gaem Suaer @ — |

Year 1 2 3 4 5 6 7 |
Installation cost at the [ 200 [210 |220 [240 |260 |290 320‘\

beginning of the year (X)
Salvage value at the end | 100 | 50 30 20 15 10
Bf the year )

Operating cost during the | 60 80 100 | 120 [ 150 | 180 {230
year ) "

0

Find an optimum replacement policy and the corresponding minimum cost.

T SR wfea ARy SR wER < e T AR |
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